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95.

96.

GENERAL APTITUDE TEST
PART -2

A number consists of two digits whose sum is 11. If 27 is added to the number, then the
digits change their places. What is the number ?

(@) 65 (b) 83
(c) 92 (d) 47

The difference on a certain amount on 5% rate between compound and simple interest is
3 6 for two years. What is the amount ?

(@) 2,000 (b) %2200
(c) 2,400 d) %2600

In an examination, a student is awarded four marks for correct answer and one mark is
deducted for a wrong answer. Student attempts 75 questions and secures 125 marks. What
is the number of his correct answers ?

(@ 35 (b) 40
) 42 (d) 48

| reach my office 40 minutes late if I walk from my house at the speed of three km/hour. |
shall be 30 minutes early if | walk at the speed of 4 km/hour. Find the distance between
my house and the office in km.

(@ 11km (b) 12 km
() 13 km (d) 14 km

In a survey it was found that 65% people listen TV news and 40% read newspapers, while
25% follow both. How many percent of people neither listen TV news nor read
newspapers ?

(@ 20% (b) 15 %
() 10% d) 5%

Insert the missing number :

QO QO Q O

29 D D

(@ 160 (b) 100
(c) 50 (d) 75
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W Jfeg uteTor
HAT-2

T G H T 3 €, et A 11 & | 3 39 9= § 27 el ST af 3{h 3701 T S5t od
T T ?

(@ 65 (b) 83

(c) 92 d) 47

T At § fREr TR W 5% Y T TTROT T T Tehgleg IS H 3= T 6 & | 98 T T & 2
@ T 2,000 (b) T 2,200
©) T 2,400 d) % 2,600

T T H U B Hl Ush Tl ST & [T °R 375 Teld € 99T Th TeAd St & [T Ueh 37k
FHEAT S | BT 7 75 U7 & (T 3T 125 37eh W fhT | SHeh Tel STl ol T feohet & 2

@ 35 (b) 40
€ 4 d) 48

I F o9 TR G A AL/ B MG F ToA & o AU SR 40 e 30 W ugwar € 1§
30 e SToal Ugd ST afs o 4 fRHY /82T & iq & Ietar § | WA W SR a3 fE A §
T

(@) 11 TmH (b) 12 THHT
(c) 13 fmH (d) 14 fHHT

TS HAUT H T§ Il FeAT [ 65% AN GG (B1A.) W FHMER Gl & 72 40% TR Ugd &,
STETeh 25% T e & | Tt STl T 7 At §YER (2lal.) T THER G €, 7 € T@eR ugd
g2

@ 20% (b) 15%
(c) 10% d) 5%
fae e T

QO Q O Q O

29 (%0) 0
(@ 160 (b) 100
) 50 d) 75
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97. Ina firm the average salary of male employees is ¥ 520 and that of females is ¥ 420. If the
overall average salary is ¥ 500, then ratio of male and female employees will be
(a) 70:30 (b) 80:20
(c) 78:22 (d) 82:18

98. Find the odd one out.

(1) Arundhati Roy (2) Sobhana Narayan

(3) Sonal Mansingh  (4) Hema Malini

(@) Arundhati Roy (b) Sobhana Narayan
(c) Sonal Mansingh (d) Hema Malini

99. If ‘PORTER’ is written as ‘QNSSFQ’, then ‘BRIGHT’ would be coded as
(a) CNJHIU (b) CQIFGS
(c) CNJHIS (d) CQJIFIS

100. Bharati is 8 ranks ahead of Divya, who ranks 26" in a class of 42. What is Bharati’s rank
from the last ?

@ 9" (b) 24"
(c) 25" (d) 34"

101. There are five different roads connecting Agra and Delhi. In how many ways a person can
complete his journey if he goes from Agra to Delhi by one road and returns by another
road ?

@ 9 (b) 10
(c) 15 (d)y 20

102. In an examination Rajesh got 112 marks, which is 32 marks more than the passing marks.
Sonal got 75% marks, which is 70 marks more than the passing marks. What is the
minimum pass percentage marks ?

(a) 35% (b) 45%
() 30% (d) None of these
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TRt ® T U0 HHTINET T 3T S 3 520 T T SHHEIRAT 1 ST 9= T 420 & | IS Fwgoy
3 9 % 500 &, & 760 TS S HEEEl § S g

(@ 70 :30 (b) 80 :20

(c) 78:22 (d) 82:18

9 9 % o9 de | T 2

(1) 3T I

(2)  IIET AR

(3) HHA TFEE

(4) &4 e

(a) oTE=dr T (b) AT ARTIOT
(€) W "HrEE (d) =T Hfer

Iig TRdT Tiehiaes 9T § PORTER % ONSSFQ foi@r S, ot &t «or §f BRIGHT ot 51 forar
ST 2

(8) CNJHIU (b) CQIFGS

(c) CNJHIS (d) CQIFIS

TR, feeam @ 8 T M €, S 42 B Fe T 26 F M WE | A § 9l fhg ©H W 2
@ 9o (b) 243
(c) 259 (d) 349

PR 3R el Sl e areft 5 fofT= §eh & | Teh AR 3TuHT A fohae itk § T 3T Fehall
¥ AT o R ¥ feoet fhel U W ¥ S SN o Wew | Wl ?

@ 9 (b) 10
(c) 15 d) 20

T TR | TS B 112 ek THel, S SHiuies 9 32 37k SURT & | Gl S 75% 3ok el S
ST & 70 375 SR € | UXeT b1 =<JAaH STvlieh WA fhe € 2

@ 35% (b)  45%
) 30% (d) =99 9 T &l
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103

104.

105.

A man is facing south. He turns 135° anti-clockwise and then 180° clockwise. Which
direction he is facing now ?

(@ North-East (b) West

(c) South-East (d) South-West

Insert the missing number in the following series :
4,7,11, 18, 29, 47, , 123, 199
(@) 76 (b) 70

(c) 84 (d) 102

A group of 1200 persons consists of soldiers and captains. If every 15 soldiers have one
captain, then the number of captains is

@ 73 (b) 75
() 70 () 74
106. If the difference between 3/4 and 4/7 of a number is 100, then the number is
(@ 520 (b) 500
(c) 560 (d) 540
107. If9x3+8 =24,10x2+7=35and 80 x 40 + 3 = 6, then find the value of 12 x4 + 3
(@ 7 (b) 9
(c) 12 (d) 16
108. The angle between the hour hand and the minute hand of a clock when time is 3 : 25 will
be
1° 1°
(@) 472 (b) 422
(c) 60° (d) 45°
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103. U AT ST I X HE FXh Gl & | T8 Tl i Y ol [ 52 7 135° a1 & 3R 36
I €T B G2 9 H 180° THAT & | 37 ITH Ug o T9m i 31X & 2

(@) SWE (b) ufeem
(c) gfeor g (d)  3feTor ufvag

104. ™ S@el § o & IRy

4,7,11, 18, 29, 47, , 123, 199.
(@ 76 (b) 70
(c) 84 (d) 102

105. 1200 ZAfFTE % T T H [GuEl 9 = § | 3l g 15 fquifedt W U S ¢, ar S
I T &

(@ 73 (b) 75

() 70 d) 74

106. s fomdl T & 3/4 941 4/7 % <= 1 3T 100 &, df 9@ &
(@ 520 (b) 500

€) 560 (d) 540

107. I 9x3+8 =24,10x2+7=35T2M80 x40 + 3 =68, @ 12 x 4 + 3 & HH Id &HU |
(@ 7 (b) 9
) 12 d) 16

108. =S T 3 ST 25 e W HS &l G T fae ot e & o § HioT g

1° 1°
@) 472 (b) 422
(c) 60° (d) 45°
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109. How many triangles are there in the given figure ?
(@ 11 (b) 12
(c) 13 @ 9
110. Which figure will come next ?
ChNE
@) @ (b)
© @ o HF
111. Find the smallest number which is when divided by 12, 16 and 18, the remainder in each
case is 5.
(@) 146 (b) 147
(c) 148 (d) 149
112. A 100 metre long train crosses a telephone pole in 10 seconds. Find the speed of the train.
(@ 36 km/hour (b) 33 km/hour
(¢) 31 km/hour (d) 37 km/hour
113. Three views of a cube are given below. Which number is printed on the opposite face to
number 4 ?
2 4 1
3 4 1 2 5 0
@ 5or6 (b) 3
(c) 6 (d 2
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109. =1 31id & fohe Brgst € 2

(@ 11 (b) 12
(c) 13 d) 9

110. 9 T 3TTCl 3TIRd i 9 et 2

SPLOD
(@) @ (b)
(©) @ (d) {:}

111. 9 Ted DI = e, fsrgent afg 12, 16 2 18 T 9 S, af U e § 5 99 W/ |

(@) 146 (b) 147

(c) 148 d) 149

112. W 100 HieX ot Tormel ot Sehia o @ &t 10 GHUE H IR HIAl &, LOWE! & T gl
HIT |

(a) 36 Tt /mwer (b) 33 Tt /mwer
(c) 31 fwH /A (d) 37 femHr /A

113. = 57 & | fefaat sois 7E € | 9 iR 4 37 i foadia Sde W i 9T 3 3t € 2

2 4 1
3 1 5

(@ 536 (b) 3

() ¢ d 2
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114. If two cows and three horses cost ¥ 4,000 and three cows and two horses cost ¥ 3,500,
how much does a cow cost ?

(@ % 1,500 (b) % 1,000
(c) %500 (d) % 2,000

115. If the product of two numbers is 320 and their ratio 1 : 5, then the sum of these two

numbers is
(@) 42 (b) 48
(c) 44 (d) 40

116. ‘X’ completes a job in 12 days. When X’ has done the job for three days, ‘Y’ joins him
and they together complete the job in next three days. In how many days, Y’ may alone
complete the job ?

(@ 4 (b) 8
(c) 10 (d 6

117. In a class the average age of 30 students is 15 years. If the teacher is included then the
average age is increased by one year. Find the age of the teacher.

(@ 40 years (b) 45 years
(c) 46 years (d) 48 years

118. One lady, pointing to a man told that the father of his brother is the only son of my
grandfather. What is the relation of that lady with that man ?

(@ Mother (b) Sister
(c) Mother-in-law (d) Sister-in-law

119. The price of a commodity is increased by 60%. How much less percentage of the
commodity should be consumed by the consumer, so that expenditure on that commodity
should remain the same ?

@ 37.5% (b) 37%
) 40.5% d) 60 %

120. A man bought two shirts for ¥ 650. He sold one of them at a gain of 7% and the other at a
loss of 6%. On the whole he neither gained nor lost ? The cost of the shirts, respectively,

were
(@ T300,%350 (b) T 330,3320
(c) ¥350,%300 (d) ¥320,%330
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114. 3t 7 =T qT A el o g1 T 4,000 B 3R o AT Ue St =El % M 3,500 &1, o T T
1 g fepa T € 2

(@) ¥ 1,500 (b) 1,000
() 500 d) 2,000

115. =g I7 TS BT TOHEA 320 & 3T ST U 1 : 5 &, T TS HT AT &
(@ 42 (b) 48
(c) 44 (d) 40

116. ‘THRT TH HE H 12 TF H W w1 € | 5T TR 39 1 3 T W GH@AA &, A’ 5Tk
T ST T BT HA T IMHA & ST € 3R o I 30T A &1 H 39 B ol W B Ot § |
‘SIS’ TeheTT 3 1 i fepe fol o U7 ST Hehall & 2

(@ 4 (b) 8
(c) 10 d) 6

117. Tt o § 30 foenfadi @ of9d o 15 a9 & | A 3Teameh i off IMiHer < forar S, at
3T U H Ueh a9 §g ST € | 3Tk bl SW UaT iy |

(a) 4099 (b) 4599
(c) 467 (d) 48

118. U Higell = Uk MEH i 31X TURT FX U e Toh 3T HE o e WY FI&7 A o Tohedidt g € |
39 GigeT 1 EH F 1 T § 2

(@) = (b) e
(c) =™ (d) omdt

119. TS %] F HAT 60 TTIT I¢ TE & | STHISHT 1 3T %] & ITHNT H fehe ATerd sl HHr et
MET A 37 o W {ohan ST arem @ raRafad @ 2

(@) 37.5% (b)  37%
(€) 40.5% d)  60%

120. T Al 3 I HHES T 650 T GRIRT | ST Teh HHS 7% N T T I 6% M9 T = | 39
T A1 T g3 A B | FHHS bt hiwd, AT, ot

(@) ¥ 300, T 350 (b) ¥ 330, % 320

(c) 350,300 d) ¥ 320,330
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WIT-3

121, 99 Vg ATy |

(a) el (b) e

(c) i (d) =X
122, T % 1 faoam &

@) & (b) Ta

(c) = d) wHR
123, =1 9 & foFQ o5 il o Y5 § 2

(a) foiteiren (b) FofSIfemT

(c) Tiiferom (d) St
124. fF=fafEd o “wgr’ = faam &

(a) i (b) S

€ =& (d) g7
125. “fafy’ =1 faerm &

(@) i (b) Frw

(c) wfefy d) Fy

126. “ford 7T IYSHR i HHA ST & ToIT Teh 918 &

(@ FHa=A (b) FHA
(c) TRIUHR (d) oo
127. T=AfcfEd § & 9 91 91 ag9d el ¢ 2
(a) T=1 (b) g
(c) e (d) =i
128. =1 ¥ ¥ & §1 vsg fergwor et & 2
(@) et (b) TR
(c) sl d) =
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129. fT=Aifehd | § I9 91 YHTFeTE I8 & SISl & 2
(2) THTR-HThY (b) AT
() TR (d) ==I-ARY

130. “qH T 39 | et &1 97 9o § fosier &
@ = (b) fom
(c) == (d)

H.

131. fr=faiad | 9 i 91 9 IolH el € 2
(@) Fret (b) W
(c) foum (d) fau=

132. “SI9eY & 1% 1 GHI” & [0 Uk 98 &
(@) Yo (b) eTaUEA
(c) Tgfer (d) e

133. =t § 9 6 91 &t a1 g5 € 2
(a) g=rdt (b) T
(c) s (d) T

134, T=foifad § 9 6 91 &t a1 g5 € 2

(a) b (b) T
(©) foeey (d) id

135. “29aR H fo9amq F TG 91l ol Fed &
(a) FoucEs (b) amreT®
OBRELUEIS] ) IELESED
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136.

G T faem &

(a) fower (b) foRe
(c) ™« d) T
137. FATGrEd ® ¥ 5 e AT :
(a) Y TS (b) T = TSI FeT
(c) 9+ g3 Fel (d) 97 g3 FaT
138. ‘TH I STTE STATH &Y ¥ HH X & el e’ & e e 93 &
(a) <Y (OIEENEAIGED
() WA (d) TEE=
139. frefafEd § ¥ i 1 I8 59 € 2
(@ = (b) =
(c) 3= (d) =
140. Frefeiad | @ i 91 9163 Torare foeror € 2
(@) TR (b) =W
€) ¥WR (d) fag
141. FefefEd § @ & 91 v gd’ H wbiEard § 2
(@) STeeat (b) ek
(c) TR (d) afar
142, foeimmedt gm & "3 § % 91 T& 6 ¢ 2
(a) -3 (b) TA-HHT
(c) erTrT-ferm (d) gresem
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frfefad & 9 forg v & ad Tt IE T 2
(a) drEw
(c) dER

“OIR H o aTett 3= T ATk U 9168 &

(a) EoAA
(c) sweand

BECERICE Rl
(@) W

(c) +w®

TIH 9 i 9T 95 faweor € 9
(@) Toum™
(c) e

T T % Ge H i 9T Gt el € 2
(a) TIRST — |

() T -

DI T I T T AT Rl ¢ 2

(@ fay
(c) oty

T 9Teg ST Sh |1 AT ol & 2

(a) Fdc
(c) =R

“IE g DIt TTEH! &7 a9 | faure €
(@ =®
(c) st

(b) R
d) <R

(b) Tt
(d) wEanhe

(b) T
d =

(b) =4
(d) wicfer

(b) et fem
(d) ¥ - Y

(b) T
d) R

(b) e
(d) STt

(b) =&
(d) <TEH
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